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BC-01
December - Examination 2017
B. Com. Pt. | Examination
Financial Accounting
Paper - BC-01
Time : 3 Hours ] [ Max. Marks :- 100

Note: The question paper is divided into three sections A, B and C.
Write answers as per the given instructions.

fAder: ST Y- & 9 @Us § - ‘I, ‘T IR ' UAD GUE
&b QIR UeHl & IR IR

Section - A 10 X 2=20
(Very Short Answer Questions)

Note: Answer all questions. As per the nature of the question
delimit your answer in one word, one sentence or
maximum up to 30 words. Each question carries 2 marks.

Qus - ‘37’
(rfer Ty IR Ue)
Ader : Tt weAl & IR ST 31T 310 TR DI WATTHAR Th 916G,
T Iy AT ferpad 30 orsgl H uRAfg Hifviel e ueT
2 3fpl Bl gl
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What do you mean by “Going concern concept.”?
e, TR AR H 3T FIT TN @ 2

Give two names of intangible assets.

3159 FHfRl & q1 A fora|

Write any two names of methods of depreciation.

qed R 1 fopel g faferr & A foran

What do you mean by overridding commission?

ST} SeteeT | T T B2

Explain error of ommission.
9ol b Fraell gl Pl FHSIS |

Write any two names of capital expenditure.

Aol a2t % Rl < AT @ Seor R

(vii) What do you mean by provision?

RIS @ 3T T AT & 2

(viii) When sectional balancing system will be used?

T AT HOTTel! e IUIRT H ol SR ?

(ix) “Goods sold on credit for ¥ 200", prepare journal entry

(x)

for it.

200 3. BT IYUR TTf ST 3! S+l ufafse Hifvr

Explain the term “Balance Sheet”.

'Rigr’ gTegrac! B THATSY |
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Section - B 4 X10=40
(Short Answer Questions)

Note: Answer any four questions. Each answer should not

exceed 200 words. Each question carries 10 marks.

(Tvs - 9)
(oTg IR 99)

fAder: fhgl IR WAl & IR SN 3T 3 IR Dl 3Ffehad

200 greei ¥ AT HIfTT| e weT 10 3iehi T Bl

Write a note on “Persons Interest in Accounting”.

R H f @ alel AfFqdl W U ol foral|

Explain with illustration : adjustment for provision for bad and
doubtful debts.

SCTER e ATEISY ¢ gEd g Al KON & fAY ST @l
S|

Define depreciation and state why is it necessary to change
depreciation?

o R ol g SRR deur 9arsy b ol d o '
JIfIRId BT it Jffart €2

What is meant by “Instalment payment system.” Write

characteristics of it.
Pt A UGl A 37 T A & 2 §3eh! [JAvamy fora |
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What do you understand by “Consignment of goods”. Explain
the different between “Sale and consignment.”

"“"HTST T TSUT I 39 AT FHT ¢ ? UNur Jer fshy § 3R
SIER]

Give the format of sales ledger adjustment A/c and purchases
ledger adjustment A/c. Which is prepared in General ledger.
AHFIRGTC 98t § I @rat 98t THRIS Qe @ 6 Qe aat
RIS Wl &7 RISl & ST UoT S|

Give journal entries to rectify the errors which were detected

which checking the accounts.

gfafsear R

(i) Sales book is under cast by % 50.
fopa g @1 SIS 50 B. B ol

(i) Purchase book over cast by ¥ 100.
% G BT Siis 100 3. 3feres 2l

What is journal proper? Give examples of four transaction to
be entered in this?

Y SHd i FEd 2? T fold STM a1l IR agRi &
ISR SR |
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Section-C 2X20=40
(Long Answer Questions)

Note: Answer any two questions. You have to delimit your each
answer maximum up to 500 words. Each question carries
20 marks.

(Tvs - ¥)
(Sref ST T9d)

e : fopgl S U9 & IR SINATI 3MUpT U TR Dl 31ferehad
500 glect ® uRATT Bear g1 U U9 20 37t @l ¢l

10) Ram and Shyam enter into joint venture for the purchase and

sale of rice. They agree to divide the profits and losses equally.
Ram purchased rice for ¥ 20000 and paid I 200 for carriage.
Shyam purchased rice for ¥ 30000 and paid ¥ 300 as sundry
expenses.
Ram sold 40% of rice for ¥ 30000 and balance sold by Shyam
for ¥ 40000. Prepare memorandum joint-venture and joint
venture with Shyam account in books of Ram.
I G QM I1ael & shd [Iehg & oI Hgeh A1ed § e R @
J o™ BT a_I6R gied &1 M 7 20000 %. & d1ad TRig @ 200
. WIST hRIT| 9T = 30000 @, & F19d BRIg g 300 3. Feaw
g fa|

M F 40% dT@et 30000 3. H g AY 40000 3. H &I 7
ot | TROTTef HYh AT QAT I8 | AT IH T GRAD! H /I
& AT FYh AR G’ g S|
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11) Write explanatory notes on:
(i) Goods in Transit
(i) Remittance in transit
(iii) Inter branch transactions.
s ®9 | fewfiry forai:
() 9rf § ara
(i) 9 JAps
(iii) 3~R ATET YIgR
12) Explain accounting conventions.
RGIhT URTORISN Pl ST |
13) Journalise the following:
=1 &t SHier wfafsear s=mai
(i) Goods sold on credit
SYR HTeT ST
(i) Goods purchased incash
TG | qTeT ERIGT
(iii) Deposited into bank
§% o ST aRE|
(iv) Rent paid by cheque
9% A f=m gam|
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